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What does the forest look like?Future of Four Seasons in Maine and the Maine Data Literacy Project


Background: Forests are a big part of Maine’s economy and culture. One important aspect of forestry is understanding how trees grow and what different forests look like at different times after harvest. Sometimes researchers will look at growth rates over time, and other times they will try to characterize what a forest looks like in a single season. 
[bookmark: _GoBack][image: size historgram for PINUPO]The graph below is a histogram of an experimental plot in a forest in California where the foresters are growing Ponderosa pine. The X axis represents diameters of trees at 1.4m high, and the Y axis represents the number of trees that fall into each category. The graph is designed to characterize the distribution of tree sizes for a given year. Notice the X axis is a Log base 2 scale. That means each bar represents double the diameter of the bar before it (The first tall bar shows trees between 2 cm and 4 cm while the next bar has double the range, 4 cm to 8 cm). This is done because there is a large range of tree diameters and large diameter trees are much less common than small trees.
























Data Source: http://ferp.ucsc.edu/plants/inplot/locations/for_species/PINUPO/

1.  Describe what the graph shows about what sizes of the Ponderosa pines in this experimental plot.
(Purpose here is to elicit description of what the graph shows.  Sample response: Over half of the the trees in this plot are less than 8 cm in diameter. The distribution is right skewed because there is a lower limit of 1 cm but the upper limit is less clear. )

2. I interpret this graph to mean…
(Purpose here is to elicit an explanation (e.g. of the pattern or variability) or interpretation of the meaning in terms of the context of the question. Sample response: Most of the trees in this plot are small, but there are a few larger ones as well. This makes sense because small trees are more vulnerable to herbivory, fire, and shade from other trees, so many of them will die before they get too big.)


Bonus discussion question: What do you think the general shape of the histogram would look like if the Y axis were not a logarithmic scale?
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